Q16.

 If [image: image2.png]a’ + b* =1 and c? + d* = 1,show that ac + bd < 1.




[image: image3.png]a® + b* +ct+d?





[image: image4.png]also, 2ac + 2bd < 2




[image: image5.png]so,a’ +b? + ¢? +d? = 2ac + 2bd




[image: image6.png]so,a? —2ac +c?+b* —2bd +d* = 0




[image: image7.png]therefore,  (a—c)? + (b —d)? = 0,50 true.




Q8. Show that 
[image: image9.png]o’ + b* +c? = ab + bc + ca




[image: image10.png]2(a® + b* +¢*) = 2ab + 2bc + 2ca




[image: image11.png]o’ —2ab+ b+ b7 —2bc+c*+c? —2ca+a’ =0





[image: image12.png](a—b)P +(b—c)+(c—a) =0, yes, True.





